2023 FEF— RN E A RBREBEE — KB
RE2FENBEEHSEER

— EERE CARHHE 13 L B3 gy, 3k 39 gy, BRI AN B R —
MRAGEHZERN, Ak, £k, HEHAED)

1 2 3 4 5 6 7
D B A A D C D
8 9 10 11 12 13
C A C D C C

ZOEREN AL 2 NS, BN 5, 36 5. BTN Rk i A —
MREFFGIHERK, SMENHE 32, BXEAENE2 7, ARENE D)

14 15

AD AD

=. &S RS N, 559
16. 1. (1) AB (2 %, B&%F 14, #Hik., 243 04)

224 @) B %—mo Q) @B UM

Ax-d
(n=-1 1

m. (s A9 2xae A%9) (3>29 (14 08 A4%)

Im (1B Q4 (14) (3> 630 (14

e HBERAFRARTESR, TF¥D.

17. (84M) (1 T, KF. KT (34 Gi: HF 14, 5 “=" 4" “>" thy)
(2) 400J], 6L

OB FERTHLRICAE 100], PEERM400]; FETIERE LM, BitA
AEtI® N 4000, (243) (ii: RERE LA G, 28R F&, #225)

OBEAMLRG: AU=W+0 . WfW=2001, ~AV="-=2L (14}

P
Y E3AV s
I8 T,
.'.AV=%V CEBY=6L (140 Gi: HAX, APEGR, RALLEN, e

18. (1148 (D) @ng=%m1’32 (140,

2
X
‘B

a,=-2=2¢ JAMLE 145

n

2

@ngsint?:%mvz, F—mgsingz% (140 Gi: BH1 5K 250K, &14)




F=3mgsin@-cosf (14> Gx: BHAFE KX K 38452, #%L1 4.)

3
nF, ==mg (145)

2
(2) @&LEHNETFE: mv,=2mv,, ..mx =2mx, (15)

Sx =R L=2R (14) Gi: #8F%HEFE, HA4RLFS)
@ F R, mg(H+R)=%mv,2+%x2mv§ (140

ey =2gR v, =\JgR (14 Gi: St dFRAK, LHERLF2H)
LHEEE: mv, =3mv,, %mvf=mgh+%x3mv32 a4
4

Sh=—R (14
3

19. 140 () RFAN#EGXEN: ¢, <@, 2454

(2) —BI x2dAt =mv,—mv,, U, = BLv,, C=ZJQ— (249

Gi: AXEHEE2 £1525)
v, =21m/s, Q=084C (14}

(3) Hlosll: —BIdAl = My, — M, » 1:% (140 Gk B ERLE 1 4)

B%d*x

Bp. — =Mv,-My,, -.v,=16m/s (15

SR KIRITETE Bx2dAQ = My, — My, c=%, AU = Bx2d(v,—v,) (15D
Sy, =2mls (145)

2 g2 1
hll—m —294%

=Mv,—Mv,, ".v,=Ilm/s (14}

.'.Q:%M’;—%va=0.12.f (149

2

1 1
20, (1140 (D qu=m%. —qu,:Emvz—Emv[f ()

= 4 Rl
..V=—V0,

5
—== (14"
5 R, 4



(2) AN LIARITHESS BILEXFR: 6=90°
B T FAT i R'+R’sina=%D, sina=% (14

vsina=v,sinff (14) .'.sinﬂ=% (4 Gi: ReFEKd gE29)

(3) it n KHEE anM~=%m"3‘%”’"§ a2 EH""zv"ﬂzg_sw1

2mv, mv, 2

<=D (14
3

HILTXE09D+04D < <09D+05D (14> , A

9B, 9B,
=16 (14
D D e
FH R Rlzz,Rzzg (4 Gi: ABMA2R -2R, =0.1kD &5 1 4)

~x=13D+2k(R—R,)=(1.3+0.16)D{k =0s 1. 22 (149)



